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Section B (40 marks) Working steps must be shown in answering questions in this
section unless specified otherwise.
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31(a). pages were left.
BT (96 —15m) E oo 2
31(b). | 18n+8+8=178 2
n=29 2
She read 9 pages on each of the first 18 days.
18n+8+8 =178 2
n = 9 2
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The number of female members 1s 95.
11
304 X(1— 16 2
=95 2
+3 95 4 o 4
32(b). 2.5X04X0.5X6 2
—3 2
The volume of the stand is 3m”.
2.5%X0.4%X0.5%X6 2
& 5 F et L 3m - 4
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Each person used m of red ribbon on average.
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Because The length of green ribbon was: 4 lom= 4 20 M-

] L The length of red ribbon was 4m. The length of

. 35 3 15
yellow ribbon was: 8m—48m—440m.
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(Accept any other reasonable explanation)
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Green _ribbon has the longest length.

Fitness center had the largest number of new members in

May . Thenumberis__ 78 .
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Each employee was awarded 2 bonus(es) from

March to June in total.
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34(c).

35(a).
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125X (30+20) 2
= 6250 2
Fitness center got $6250 in April.
125X (30+20) 2
= 6250 2
P s e P 2 ziF g | 7 $6250 - 4
The perimeter of each rectangle is cm.
FBEShe FE_ 80 cme 2
30X3X50 2
=4500 2
The area of the big rectangle is 4500cm?.
30X3X50 2
=4500 2
= £ 3 Ajehm f £.4500cm? 4
EEEN
I6cm (Accept any other correct answer) o)
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4 plastic sticks with 6 cm will be needed.
RUEBEZR 4 P & 6 cm R o 2
He paid $ | in total.
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